25 230z
H: UA25 HAHL &2 L XM I(2YL2Z /250 =)
e AAE23F IIXNEE (2 &HH)
x 5 - 4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Ssto = 56,018,062 48,601,255 7,416,807
= 15,510,903
2 7,985,000
J| 4,578,054
= 2,419,165
= 25,524,940
2223 AL &8 L IXNMD(2L2E/250%) 5,965,200 5,286,700 678,500
= 1,850,000
2 400,000
J| 10,000
= 3,705,200
2R3 IIXEE 820,700 1,172,900 A 352,200
23S HAAEEY 820,700 1,172,900 A 352,200
201 et 225,000 270,000 A 45,000
01 AP 2t 2| bl 225,000 270,000 A 45,000
OLIAT AL =& 225,000
202 04| 2,700 2,900 A 200
01 2L Hl 2,700 2,900 A 200
OYAS HHBY A2EZ 2,700
301 et A= 93,000 90,000 3,000
11 J|EtE A2 93,000 90,000 3,000
OXLJ T AF HEAIY 2a= 93,000
307 2Iz2t0| & 20,000 0 20,000
02 QI2tAAE X2 20,000 0 20,000
OXd&doY dAIWA X& 20,000
308 XAHXIGHH SO0l & 480,000 500,000 A 20,000
01 AIKISHHENEXZ 480,000 500,000 A 20,000
OBbtoll st AP 150,000
o gols olq 60,000
og= 0|0 43 150,000
o1z YFAAM AR 30,000
OS2 0lss o1 50,000
Odlad A7 20,000
OodlHAs AR 20,000
SFERS Y42 =4 5,144,500 4,113,800 1,030,700
= 1,850,000
2 400,000
J| 10,000
& 2,884,500
SFEQE S AL 279,500 394,800 A 115,300
202 04| 4,500 4,800 A 300
01 2Ll 4,500 4,800 A 300




2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFEUXHAER 4,500
308 XX SHAHSOIH 275,000 300,000 A 25,000
01 IIXHHINMNEEXTZ 275,000 300,000 A 25,000
F=Q Ml & A X & 70,000
L2EANEL BEE&dS 10,000
oZd sFAEX0=H 35,000
ost=2xM==sHd EIOINE 40,000
OLUA 2=H 90,000
O&ald ots 0l0FJ| &HX 30,000
SFEQlIE 25 AN(Z1D) 15,000 12,000 3,000
J| 10,000
& 5,000
308 XHXIGH SO0l & 15,000 12,000 3,000
J| 10,000
& 5,000
01 AIKISHHENEXZ 15,000 12,000 3,000
Od=2 HAYE 0=0=H 2K 15,000
J| 10,000
o 5,000
SH20IE0 =M HRKNF(Z2IHEEIH) 313,000 0 313,000
308 AMXISHMSOIA 313,000 0 313,000
01 HXHHIMNEEXTZ 313,000 0 313,000
Ost=20E0==M HA XS 313,000
COAE 23 90,000 0 90,000
307 2Iz2t0| & 90,000 0 90,000
02 It A8 X2 90,000 0 90,000
OE0ANY 2=UHE M=K 90,000
2018 SH=EE AZ3)|& d=2MEUS 30,000 0 30,000
307 QI2t0| ™ 30,000 0 30,000
02 AN EXS 30,000 0 30,000
02018 sH=Z HdZ2)|/1 d=2L0IEU3 30,000
=28 = 2% s=03 30,000 0 30,000
307 2Iz2t0| & 30,000 0 30,000
02 It A8 X3 30,000 0 30,000
O=2H = 2= s=U3a Mz XN 30,000
UAT SFES3IA Al A 51,000 48,000 3,000
201 LBt | 31,000 28,000 3,000
01 AP 22| d| 7,000 7,000 0
OLRT SESIA A4 7,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 &AL2 I 24,000 21,000 3,000
OLRJAE SEZ3HL Ala 24,000
301 LA F 20,000 20,000 0
11IIEELS S 20,000 20,000 0
OLRAT SEZ 3L Al4 20,000
S2us #2435 66,000 376,000 A 310,000
307 glz2tol & 36,000 36,000 0
02 QIZtFAE XS 36,000 36,000 0
OFAYE FSSuH 2 36,000
308 XXM SOIA 30,000 40,000 A 10,000
01 XML EES 30,000 40,000 A 10,000
Os=u=s WEANY 24 30,000
HEMNEEERARS 29 3,000 3,000 0
201 2et24d] 3,000 3,000 0
01 At 2teltl 3,000 3,000 0
OESAE EERAS 294 3,000
NEEst2stEHAI XA (21) 645,000 545,000 100,000
& 400,000
< 245,000
308 AHAIEHHSOIA 645,000 545,000 100,000
= 400,000
< 245,000
01 HIXNHHNBMNELS 645,000 545,000 100,000
OZE M ASiZ 2=01 W 200,000
=1 100,000
< 100,000
OZEHES=2sH 2FAHE 300,000
& 200,000
S 100,000
OSL=MAXH XI& 145,000
= 100,000
< 45,000
SE2s MEAL A (=1) 2,275,000 2,275,000 0
= 1,750,000
< 525,000
403 MtXISHH S0l & 2,275,000 2,275,000 0
= 1,750,000
< 525,000
01 XS M A=2EE 2,275,000 2,275,000 0
OZE =& HdHI2aME2 HE 2,275,000
= 1,750,000
< 525,000
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T EH: 2
(=R B o

235t o
& FEIS L=2|4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2014 2ARAB=23519 of 2H9(=1) 1,347,000 0 1,347,000
= 100,000
& 1,247,000
201 LBt | 20,000 0 20,000
01 AP 22| H| 20,000 0 20,000
OLJAUE235 of FXE2G &9 20,000
202 044 7,000 0 7,000
01 2L Y| 7,000 0 7,000
OXRJUEZ3O ol AHY F=X 4 H| 7,000
207 SO0 £ 50,000 0 50,000
01 S| 50,000 0 50,000
OW=E KA . RE XAIHR 50,000
307 giztol & 1,270,000 0 1,270,000
= 100,000
& 1,170,000
02 It A X2 1,270,000 0 1,270,000
OAURKADNE=23519 ol AFY 29 1,270,000
= 100,000
= 1,170,000
2A2A 2350 A AU (2L 2 /2510 =) 26,671,152 21,855,060 4,816,092
= 1,207,630
2 7,110,000
J| 3,573,500
= 130,000
o= 14,650,022
S3IIBLAIE S XISsE= 7,663,000 7,732,600 A 69,600
2 5,200,000
o= 2,463,000
2308 A|E2HE 236,000 536,600 A 300,600
202 044 6,000 6,600 A 600
01 2L Y| 6,000 6,600 A 600
O23tJ|8F Al8HE SEXEA 6,000
403 XX SHHS K201 & 230,000 480,000 A 250,000
01 XIS A2E X 230,000 480,000 A 250,000
o2 N 29 #2435 K& 30,000
OZx AEA BIEAHO 'H' ME2 HE 200,000
S 2AHE(=Z21D) 740,000 1,860,000 A 1,120,000
2 740,000
403 XX S M S X201 & 740,000 1,860,000 A 1,120,000
2 740,000
01 AXESHEE X 740,000 1,860,000 A 1,120,000
O3Std =3tz & el2da 240,000
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& 240,000
OFHO2E HAIZsSHEE HE 500,000
= 500,000
ST A2 HE (=) 4,540,000 3,335,000 1,205,000
= 3,200,000
< 1,340,000
403 X SHS X =0l H 4,540,000 3,335,000 1,205,000
2 3,200,000
< 1,340,000
01 X SHHX2E= 4,540,000 3,335,000 1,205,000
ORFNYSLTND A 4,250,000
2 3,000,000
< 1,250,000
OFFANEB M2 HE 290,000
2 200,000
< 90,000
2oz JEAIE THAY(2D) 1,247,000 200,000 1,047,000
2 860,000
< 387,000
403 XIS E X201 & 1,247,000 200,000 1,047,000
& 860,000
< 387,000
01 X SHHAN2E = 1,247,000 200,000 1,047,000
oY== JIEANE &MY 1,247,000
& 860,000
S 387,000
HERst IEXNR (=) 730,000 520,000 210,000
= 400,000
< 330,000
403 A X EHHSH20IA 730,000 520,000 210,000
= 400,000
< 330,000
01 HIXESHHMA2E X 730,000 520,000 210,000
OBY dS0s 43T HE 730,000
= 400,000
< 330,000
g o8¢y 23 170,000 131,000 39,000
403 MtXSHHS =0l & 170,000 0 170,000
02 BII 2+ S Ofl CH 5 CH 34 AL 2 1l 170,000 0 170,000
ozg Of3dE 24 170,000
2tz AEHA =5 6,733,500 5,925,100 808,400
= 670,000
J| 1,431,000
& 130,000
< 4,502,500
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230l = ot
2HAEse I 2s(2sL2aF/250 =)
2340z AdSHH 2=

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
TN FLSESA L A2 14,000 46,000 A 32,000
202 O4dl 2,000 4,000 A 2,000
01 = LH 4 1l 2,000 4,000 A2,000
OFstuy A A L35 = 2,000
307 21201 A 12,000 42,000 230,000
04 BIZHHAIE RS 12,000 42,000 230,000
Os=0t NLE=2 Dzsnzd 12,000
ZEE-XECE M2 UF 14,000 0 14,000
202 04l 2,000 0 2,000
01 = LHA YI 2,000 0 2,000
O=HEsns 2= 2,000
307 glz2tol & 12,000 0 12,000
04 RIZIHAIE RS 12,000 0 12,000
OLAE-ZECE M2 12,000
ZAE-EH MR 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 BIZHHAIE RS 10,000 0 10,000
OL3LE-otsld M= 10,000
Z2RAE-28d I M2z 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 RIZIHAIE X S 10,000 0 10,000
OZ3E-Z284d M2tz 10,000
st-= stAHd IS A 10,000 0 10,000
307 gl2tol & 10,000 0 10,000
04 RIZHHAIE RS 10,000 0 10,000
Ost-= & Ad 2 10,000
230z F&Es N 605,000 1,056,600 A 451,600
& 130,000
< 475,000
202 oddl 6,000 6,600 A 600
01 = LH o4 1l 6,000 6,600 A 600
o230z s XN 6,000
307 giz2+ol & 149,000 725,000 A 576,000
02 B AEXS 50,000 130,000 80,000
OEXZst2t &AM AZSXE 50,000
03 MElHHNEEXZS 99,000 95,000 4,000
OAMSIEHH 298 XA (2std=) 99,000
308 XtXIEHHSOIA 450,000 275,000 175,000
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2H: 230
M 2o MY A (L2 /2s0 =)
Sel: 2silz EHA 7E (erg @)
SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
O23t0lzs MsSAY 1,300,000
OZstMe 4013 500,000
307 glz2tol & 160,000 160,000 0
05 RIZtI &= 160,000 160,000 0
OZA=d0=al 2 e 2e 160,000
ALz 249 245 91,500 105,500 A 14,000
202 044l 1,500 2,500 A 1,000
01 SLHOYI 1,500 2,500 A 1,000
ONg=Zsd 29 243 = 1,500
308 MtXIEHMSOIH 90,000 72,000 18,000
01 HXNHHBHELS 90,000 72,000 18,000
OXNLzsd AMEE 2L 90,000
NL23t AIEH X2 (21) 600,000 800,000 A 200,000
& 600,000
403 Ut SHHS =0l & 600,000 800,000 A 200,000
& 600,000
01 HXSHMA2E X 600,000 800,000 A 200,000
Osdzad A= 400,000
= 400,000
OQNEZsd &= 200,000
& 200,000
SEZSIAL A2 H3 10,000 0 10,000
307 glz2tol ™ 10,000 0 10,000
02 QIZtFAE X 10,000 0 10,000
OHEZSIAL AR HSI| 10,000
AES0l A3 10,000 0 10,000
307 21201 & 10,000 0 10,000
02 QIZtFAEXZ 10,000 0 10,000
OAE2s0l 23 10,000
=2otd ALY EOIEDU3 OHE 50,000 0 50,000
307 glz2t0ol & 50,000 0 50,000
02 2B AEXS 50,000 0 50,000
O9Y "iI21NUsl M= 50,000
2o 2xEgs N (22) 2,582,000 1,937,000 645,000
J| 1,431,000
< 1,151,000
307 glztol & 2,582,000 1,937,000 645,000
J| 1,431,000
< 1,151,000
02 2t EXS 2,582,000 1,937,000 645,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 476,000 0 476,000
= 238,000
= 238,000
02 QItFAE XS 476,000 0 476,000
OEx=statn 24 X 476,000
= 238,000
< 238,000
SHEA LS AFZEINX A (2D) 72,000 84,000 212,000
J| 30,000
= 42,000
307 21201 A 72,000 84,000 A 12,000
J| 30,000
< 42,000
02 QB AEXRS 72,000 84,000 A 12,000
OAMZEEI X3 72,000
J| 30,000
< 42,000
23 =X d2od XHAE(22) 210,000 0 210,000
J| 142,500
< 67,500
307 glz2tol & 30,000 0 30,000
J| 7,500
< 22,500
02 QIZtFAEXZ 30,000 0 30,000
O23=X M2 2HAY 30,000
J| 7,500
< 22,500
308 XXM SOIA 180,000 0 180,000
J| 135,000
< 45,000
01 AXHHBILEES 180,000 0 180,000
O=3=k 2o LA 180,000
J| 135,000
S 45,000
ZAETEIH 29 500,000 0 500,000
306 93 500,000 0 500,000
01 &= 500,000 0 500,000
oZEag=a- 29 500,000
Fatols s MM FH 30,000 0 30,000
201 ¢4l 20,000 0 20,000
01 At 2t 2l 20,000 0 20,000
OZ3EE R A¥E 29 20,000
303 Z& 3 10,000 0 10,000
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01 243 10,000 0 10,000
O23t0lzs ISAH 224 AIZ AlY 10,000
Z2d 2 E 84 4,291,000 2,948,000 1,343,000
& 540,000
J| 1,970,000
= 1,781,000
Z2E23 BEL= Y BHEF 15,000 377,000 A 362,000
201 et 10,000 10,000 0
01 At 22l 10,000 10,000 0
O=2stiz=dsAdsE 29 10,000
202 O4dl 5,000 7,000 A 2,000
01 = LH 4 Hi 5,000 7,000 A 2,000
OZ=s FEEH = 5,000
220HE St 2s(=2) 2,131,000 1,571,000 560,000
J| 1,970,000
< 161,000
308 XX EHH SOl 2,131,000 1,571,000 560,000
J| 1,970,000
= 161,000
01 IXNHHBNEES 2,131,000 1,571,000 560,000
Osg =23018H At 2,131,000
J| 1,970,000
< 161,000
glolgel XA (=2) 700,000 1,000,000 A300,000
=1 400,000
= 300,000
306 43 700,000 1,000,000 A300,000
= 400,000
< 300,000
01 &= 700,000 1,000,000 A.300,000
OZE=HeE=E Iz 700,000
& 400,000
< 300,000
HIA Chetel= oteldd =& (=1) 245,000 0 245,000
& 140,000
< 105,000
308 AHXIEHHSOIA 245,000 0 245,000
= 140,000
< 105,000
01 HIXNHHNBMNELS 245,000 0 245,000
OHM23l MH CHetel= otelgy =d 245,000
& 140,000
< 105,000
H2d IS HE X 1,200,000 0 1,200,000




2N
X ZH -
L= B

el

230l = ot
2HAEse I 2s(2sL2aF/250 =)
28 2EE |4

- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 1,200,000 0 1,200,000
02 It A X2 255,000 0 255,000

OHM11e H2E2MMS2HM HA XS 255,000
04 QIZISHALE X2 945,000 0 945,000
OHM11s H2HE=2HS2H MK 945,000
HOURAY &4 2,173,000 560,000 1,613,000
2 700,000
= 1,473,000

HEURSAY JjetxHd 1,078,000 300,000 778,000
202 o4 H] 8,000 0 8,000
01 2L I 8,000 0 8,000

O&EC 234 JIBEXAH 2L Y| 8,000
307 giztol & 300,000 300,000 0
02 It A X2 300,000 300,000 0
odJdFapd & 300,000
308 XX SHHSOIH 770,000 0 770,000
01 IXHHIMNEEXTZ 770,000 0 770,000
oW 23X HAsg =X 650,000
OZW oM X 40,000
O&23te Hel Z&EAY 80,000
234 S AH E45H(2D) 260,000 260,000 0
2 200,000
= 60,000
308 XAHXIEHSOIA 260,000 260,000 0
2 200,000
= 60,000
01 AIXSHMENMNEX= 260,000 260,000 0
O3pP_E = M2olsd 2xM 260,000
2 200,000
& 60,000

HEEAMII=(ICT) 828 000 2s=2dx 84 70,000 0 70,000
201 LBt | 20,000 0 20,000
01 AP 22| d| 20,000 0 20,000

OICT 8288 FAAIF 249 20,000
308 MXISHMSOIA 50,000 0 50,000
01 HXHHIMNEEXTZ 50,000 0 50,000
O2SIMHRE HML Y 10,000
OZb = MYE SFHXS 40,000

e e- AT X043 HIIX 15,000 0 15,000

308 XHXIGHH SO0l & 15,000 0 15,000




25 230z
Hu: ASso IM YSH(SHYBB/2502)
Sel: Ho2say sS4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 IXHHNIMNEXS 15,000 0 15,000
OHEHH e-AE=x [(H3 ZIIKH 15,000
Aedat HE(=21D) 750,000 0 750,000
2 500,000
o= 250,000
403 XX S M S X201 & 750,000 0 750,000
2 500,000
=} 250,000
01 XS A2E X 750,000 0 750,000
OX2H3IS HEAMY 750,000
2 500,000
= 250,000
S3SAMo HAN BEZ - IS (2L 2Z/25HM) 23,337,510 21,422,495 1,915,015
= 12,453,273
2 475,000
J| 994,554
= 2,289,165
o=t 7,125,518
S3FAS K|S EHE - 2= 4,324,495 3,330,361 994,134
= 1,409,573
2 330,000
J| 994,554
&< 1,590,368
AXZ2 SN A=A 110,000 100,000 10,000
308 XAHXIEHSOIA 110,000 0 110,000
01 AIXSHMENMNEX= 110,000 0 110,000
OHES 23 A=A 110,000
BN B -4 536,300 465,800 70,500
202 o4 | 3,000 3,600 A 600
01 2Ll 3,000 3,600 A 600
ORE23M B85 -84 4L =X 3,000
308 MXISHMSOIA 533,300 442,200 91,100
01 HXHHIMNEXTS 533,300 442,200 91,100
Ok REHISIM 852X 427,800
OLEHLHHN E=3 & 50,000
O SIS ZIH! A 55,500
LALE 2SN MNSE0IE #AF XA & 20,000 0 20,000
307 212t0| & 20,000 0 20,000
02 I2t3 A8 X2 20,000 0 20,000
OLRILYEESM ASEHOtE AN K& 20,000
23 MAKS 29 46,000 36,300 9,700
201 Bt 40,000 30,000 10,000




2N 230z
g 2aoMo HHE P95 2 (SAURB/2T)
Sl 2sRM0 FHIY BE - 25 CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 40,000 30,000 10,000
O=stMeda 24 40,000
202 04l 6,000 6,300 A 300
01 = LH Yl 6,000 6,300 A 300
OFstreto el & Jg3s FRFA 6,000
=t =cl2E0MN 22t 12,000 10,000 2,000
201 £Br2d| 12,000 10,000 2,000
01 At 22l 12,000 10,000 2,000
O=23M =2IEDN L2t 12,000
PHRSIM d=XR(=12) 1,185,600 0 1,185,600
= 912,000
< 273,600
403 X SHHE A0l & 1,185,600 0 1,185,600
= 912,000
= 273,600
01 XM A=2E X 1,185,600 0 1,185,600
OLE=s =2 AHE 1,055,600
= 812,000
< 243,600
oF4doelg =2t B 130,000
= 100,000
< 30,000
PEHRIIM 2 22 2435 NI (21) 126,750 123,000 3,750
= 97,500
< 29,250
308 XX EHSOIA 126,750 123,000 3,750
= 97,500
< 29,250
01 IXNSHHBNEES 126,750 123,000 3,750
ORE=EsM d-4dst 2208 29 126,750
= 97,500
< 29,250
llgs 28z (21) 100,000 80,000 20,000
= 100,000
308 XXIEHHSOIA 100,000 80,000 20,000
= 100,000
01 AXHHBILEES 100,000 80,000 20,000
O=2"=2stM Mat2te| 100,000
= 100,000
23 SE2eddA 25(=22) 248,539 162,220 96,319
J| 191,184
< 57,355
308 AHAIEHHSOIA 248,539 152,220 96,319
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

Pl 191,184
& 57,355

01 AIXHMBAEXZ 248,539 152,220 96,319
O23tM Se2eMdHA = 248,539
Dl 191,184
= 57,355

SX23 M EIHAIAE R=(=21D) 244,200 882,400 A 638,200
J| 216,370
& 27,830

403 XtXISHH S K201 244,200 882,400 A 638,200
J| 216,370
& 27,830

01 HXHNMAHEE = 244,200 882,400 A 638,200
O=2INXNE2M LHAIAE 2= 244,200
Jl 216,370
& 27,830

S35 22 LAY XK (21D) 325,000 94,000 231,000
= 250,000
& 75,000

308 AXISHAMSOIH 325,000 94,000 231,000
= 250,000
== 75,000

01 HXHHNIMNEXS 325,000 94,000 231,000
O2IMEE 2AMY XA 325,000
= 250,000
< 75,000

Aol sHE AE, 0 EEAMY(=1) 50,700 0 50,700
= 39,000
o= 11,700

308 XX SHHSO0IA 50,700 0 50,700
= 39,000
o= 11,700

01 AIXHMBAEXZ 50,700 0 50,700
OME, &n ESAY 50,700
= 39,000
== 11,700

HAXNE AR (=Z1) 330,000 654,000 324,000
2 330,000

308 A XISHXSO0lIH 330,000 654,000 324,000
=z 330,000

01 AXHNBMNEXTZ 330,000 654,000 A 324,000
O3t X A2 HEoES =4 XN 330,000
2 330,000

NMHA KA SHZE 2 EB(21) 10,000 10,000 0
= 10,000




2N 230z
M 2R WHE BEE - &5 (2L 2 /23M)
el 2aRM FEIIE PE - 25 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
308 XXM SO0l A 10,000 10,000 0
= 10,000
01 IXNHHBNEES 10,000 10,000 0
OMASL STH2el & =2 10,000
= 10,000
23 SsSAE(=12) 978,333 663,000 315,333
J| 587,000
< 391,333
307 21201 A 978,333 663,000 315,333
J| 587,000
< 391,333
02 QB AEXRS 978,333 663,000 315,333
O=ZstM =AY 978,333
J| 587,000
= 391,333
23l MISRRY 2H(=1) 1,073 9,641 A 8,568
= 1,073
308 AHXIEHHSOIA 1,073 9,641 A 8,568
= 1,073
01 AXSHBLEES 1,073 9,641 N 8,568
OZstizel ASI=2ed 29 1,073
= 1,073
EHES & RAHIH| 19,013,015 18,092, 134 920,881
= 11,043,700
& 145,000
& 2,289,165
< 5,535,150
=3t 2+=FHl 3,900, 165 4,103,565 A 203,400
& 2,289,165
< 1,611,000
202 o4dl 14,000 14,400 A 400
01 = LH o4 1l 14,000 14,400 A 400
O=23M 2+&H =& 14,000
403 XIS E X201 H 3,886,165 4,089, 165 A203,000
& 2,289,165
< 1,597,000
01 X SHHXN2E= 3,886, 165 4,089, 165 203,000
OEXNE =M E=FH| 1,597,000
OZXNBEZsM E=+=3Hl 2,289,165
= 2,289,165
HSANE BEXA(=1) 1,737,000 1,830,000 293,000
= 1,158,000
< 579,000
403 MtXISHE X201 & 1,737,000 1,830,000 A 93,000




2N 230z
B 23949 HHAN 22 M (2LBZ/25T)
ool 2L U S (29l & 2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 1,158,000
< 579,000
01 AXSHMA=2EE 1,737,000 1,830,000 A 93,000
OHSAE EEXH 1,005,000
= 670,000
S 335,000
ONSAE HMAIAE 25 732,000
= 488,000
< 244,000
ZIKNE 23 M 23Ul (=212) 13,158,350 12,158,569 999,781
= 9,885,700
< 3,272,650
403 MtXISHH S0l & 13,158,350 12,158,569 999,781
= 9,885,700
< 3,272,650
01 XS M A=2EE 13,158,350 12,158,569 999,781
O=JtNE23M 2+=&FH| 13,158,350
= 9,885,700
< 3,272,650
Ex MEAN RETAZ A (=21) 217,500 0 217,500
& 145,000
= 72,500
403 UHXI S S K201 & 217,500 0 217,500
= 145,000
= 72,500
01 X EHHMA=LE L 217,500 0 217,500
O=x MEA RSHAIZ A ALY 217,500
& 145,000
= 72,500
HY2FZH (23t0l=)(I1EH/IIEH) 44,200 37,000 7,200
Jl=234l 44,200 37,000 7,200
EM2E Jl=Z 44,200 37,000 7,200
201 €82l 30,000 30,000 0
01 At 22l 30,000 30,000 0
ORAM2Y AtR22ll 30,000
202 o4dl 10,000 7,000 3,000
01 = LH o4 1l 10,000 7,000 3,000
fAeY 2ol 10,000
203 YR =&t 4,200 0 4,200
04 NI FAH 4,200 0 4,200
©30¢! olat 350,000& 128 4,200




